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Note :

e -

This paper is of Thirty Five (35) marks divided into
two (02) Sections A and B. Attempt the questions
contained in these sections according to the detailed
instructions given therein.

T® YITE YA (35) 3 @ 2 oS g (02)
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SECTION-A/( @US-ah )

(Long Answer Type Questions)/( Et&l 3T T W9)

Note :

e -

Section 'A' contains Five (05) long answer type
questions of Nine and Half (9%2) marks each. Learners
are required to answer any Two (02) questions only.
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1. What are Grignard reagents? Describe three methods of
preparation and synthetic applications.

fire sifrrtdsr @ €7 THe Fmin =1 d= fafEl o
Hyafta STWAr 1 avF &It
2. (a) Explain the Fischer Indole synthesis and Skraup

synthesis of Quinoline with mechanism.

(b) What happens when Quinoline and Isoquinoline
undergo oxidation with aqueous KMnO,?

() TSN SSieT Heeluol R foamifor ®&hd Heeol i
AT Hifa|

(@) M B § SW Ao SR STgEifeRien  Seid
KMnO, & ¢ i § ToRd 87

3. (a) Whats are detergents? How do they differ form soap?
Characterize the structural feature necessary to make a
good detergent.

(b) Explain the iodine value and cleansing action of soap.

(%) feesle 7M1 2@ 82 9 WA W &9 i B0 ¥
=31 feosle oA & fou eavas dwaras fagoa
1 U HifSUl

(W) WA #1 SEEH Sy iR WEE R w1 =men
FIFST|

4. What do you understand by the term alkaloid? How is
cocaine isolated?

soFallze K Y oY FM U &7 FEHE H Hd
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5. (a) Whatis Witts theory of colour and constitution?

(b) Gives the synthesis of any two of the following: Methyl
orange, Malachite green, Alizarin.

(%) T AR BT & fae fagia w82
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SECTION-B/( ©@Us-@ )
(Short Answer Type Questions)/( g I AT Y9T)

Note : Section 'B' contains Eight (08) short answer type
questions of Four (04) marks each. Learners are required
to answer any Four (04) questions only.  (4x4=16)

Me: Tus ‘@ H @ (08) oY IW ot Wy fI
™ T, Y% Y &% g =R (04) e TAwuifa
2l foenfelal = 9 ¥ @aw W) (04) A B
SW A 2

1. How will you convert following :
(a) Glucose into sorbitol.
(b) Fructose into manitol.
(¢) An aldohexose into an aldopentose.
(d) An aldopentose into an aldohexose.
oY = H FY wU@RG w2
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() U UeelReds i UeeMe Hl
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Discuss the cyclic structure of D-glucose.

SRSl & R WA T F=l i)

PMR spectrum of a compound shows the following peaks:
d 7.22 (s, 5SH); 8 2.77 (q, 2H); 6 0.97 (t, 3H). Give the
structure with the above data.

T Aifies &1 NHeR ey fefated =ifeat s g
B: 87.22 (s, SH); & 2.77 (g, 2H); § 0.97 (t, 3H)| ST
A & WY TEA ST

Give two methods of formation of thioether.

fopier & frfor & 2 T0% T

Define the following as related to proteins :
(a) o -helix structure. (b) Denaturation.

e 9 deftud frafafed =t afafa wife .
(F) o-2fered &= (@) fagdis

Explain the mechanism of osazone formation.

AMSIE & 94 ki fRafafa s gwsmREyl

What is isoprene rule? How is the structure of citral
established?

AN oM @ 8?7 WEg i GEEl Sl Tfd i
S 7

What is TMS ? Why TMS is used as the most commen
reference compound in 'THNMR (PMR) Spectroscopy?

TMS &1 82 'HNMR (PMR) ER&hd § God G
Hed s & ®9 G TMS 1 IUEM = foFan s 872
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